Mistakes Were Made by Josh Keller & Carissa Potter December 11th- February 12th



Carissa Potter Blue mug, 2021 Acrylic on Paper 23.5 x 23.5 \$ 550



Carissa Potter Blue kettle, 2021 Acrylic on Paper 23.5 x 23.5 \$ 550



Carissa Potter Web, 2021 Acrylic on Paper 23.5 x 23.5 \$ 550



Carissa Potter Shelter from the storm, 2021 Acrylic on Paper 23.5 x 23.5 \$ 550



Carissa Potter Green Palm, 2021 Acrylic on Paper 23.5 x 23.5 \$ 550

Eleanor Harwood Gallery 1275 Minnesota Street, Suite 206 San Francisco, CA 94110, USA

+1.415.867.7770, eleanor@eleanorharwood.com www.eleanorharwood.com



Carissa Potter
I want you to want me, 2021

Acrylic on Paper 23.5 x 23.5



Carissa Potter \$ 550 Holding Family, 2021

\$ 550

Acrylic on Paper 23.5 x 23.5



Carissa Potter \$ 550

The love you gave, 2021 Acrylic on Paper 23.5 x 23.5



Carissa Potter \$ 550

Holding me holding you, 2021 Acrylic on Paper 23.5 x 23.5



Carissa Potter \$ 550

Ikea table cloth, 2021 Acrylic on Paper 23.5 x 23.5



Carissa Potter \$ 550

Gift from Emily, 2021 Acrylic on Paper 23.5 x 23.5

> Eleanor Harwood Gallery 1275 Minnesota Street, Suite 206 San Francisco, CA 94110, USA

+1.415.867.7770, eleanor@eleanorharwood.com www.eleanorharwood.com



Carissa Potter

Blue plant in a teal pod on a yellow table, 2021

Acrylic on Paper
23.5 x 23.5



Carissa Potter \$ 550
A gift from leaa, 2021
Acrylic on Paper 23.5 x 23.5

\$ 550



Carissa Potter \$ 550
Yellow pod, 2021
Acrylic on Paper 23.5 x 23.5



Carissa Potter \$ 550

Josh's pencil holder, 2021

Acrylic on Paper 23.5 x 23.5



Carissa Potter \$ 550
White vase with blue leaves, 2021
Acrylic on Paper 23.5 x 23.5



Carissa Potter \$ 550

Teal plant in pink vase, 2021

Acrylic on Paper 23.5 x 23.5



Carissa Potter All the people you loved, 2021 Acrylic on Panel 23.5 x 23.5

\$ 1,700

\$ 550



Carissa Potter Light switch, 2021 Acrylic on Paper 23.5 x 23.5

\$ 550



Carissa Potter Tissue box, 2021 Acrylic on Paper 23.5 x 23.5

\$850



Carissa Potter I don't know what I can save you from, 2021 Acrylic on Panel 23.5 x 23.5



Carissa Potter \$ 850 Someone to listen, 2021 Acrylic on Panel 23.5 x 23.5



\$850 Carissa Potter I missed you, 2021 Acrylic on Panel 23.5 x 23.5



Carissa Potter
Our last night, 2021
Acrylic on Panel
23.5 x 23.5

\$ 850



Carissa Potter When we first met you were human, 2021 Acrylic on Panel 23.5 x 23.5 \$ 1,700



Carissa Potter
Blue vase shadow on pink table, 2021
Acrylic on Panel
23.5 x 23.5

\$ 850



Carissa Potter \$ 850

A little off, 2021

Acrylic on Panel 23.5 x 23.5

Carissa Potter \$ 850

Cactus in blue flower pod, 2021

Acrylic on Panel 23.5 x 23.5

SOMEDAY, WE'LL
LOOK BACK
ON THIS TIME &
WONDER HOW WE
GOT THROUGH IT.
I HAVE NO IDEA
HOW WELL DO IT.
WE JUST HAD TO,
SO WE DID.

Carissa Potter \$ 850
Someday we'll look back on this times, 2021
Acrylic on Panel
23.5 x 23.5



Carissa Potter
Plant with blue vase, 2021
Acrylic on Panel
23.5 x 23.5

\$ 850



Carissa Potter In all good relationships passion fades, 2021 Acrylic on Panel 23.5 x 23.5 \$ 850



Carissa Potter

Last night in a dream, 2021

Acrylic on Panel
23.5 x 23.5

\$ 850



Carissa Potter Protect each other, 2021 Acrylic on Panel 23.5 x 23.5 \$ 850



Carissa Potter Intertwine, 2021 Acrylic on Panel 23.5 x 23.5 \$ 850



Carissa Potter You can relax, 2021 Acrylic on Panel 23.5 x 23.5 \$ 850



Carissa Potter \$ 850
I found someone I really cares for, 2021

I found someone I really cares for, 202 Acrylic on Panel 23.5 x 23.5



Carissa Potter \$ 850
I feel loved when your actions match your words, 2021

Acrylic on Panel 23.5 x 23.5



Carissa Potter \$ 850

Somethings can't be fixed, 2021 Acrylic on Panel 23.5 x 23.5



Carissa Potter \$ 850

In a meaningless universe, 2021 Acrylic on Panel 23.5 x 23.5



Carissa Potter \$ 850

Empty chair, 2021 Acrylic on Panel 23.5 x 23.5



Carissa Potter \$ 850

Flowers from Michelle, 2021 Acrylic on Panel 23.5 x 23.5

> Eleanor Harwood Gallery 1275 Minnesota Street, Suite 206 San Francisco, CA 94110, USA

+1.415.867.7770, eleanor@eleanorharwood.com www.eleanorharwood.com



Carissa Potter
Summer in russian river, 2021
Acrylic on Panel
23.5 x 23.5

\$ 850



Carissa Potter Laundry day, 2021 Acrylic on Panel 23.5 x 23.5 \$ 850



Carissa Potter Sticks, 2021 Acrylic on Panel 23.5 x 23.5 \$ 850